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Answers

1. B

2. D

3. A

4. C

5. D

6. C

7. B

8. C

9. A

10. D

Determine which choice shows the expression used to solve the problem.

1) A chef had ten potatoes to make fries with, but he only used four of them. How many potatoes
does he still have?

A. 10 + 4 B. 10 - 4 C. 10 × 4 D. 10 ÷ 4

2) Dave had forty-two pieces of candy. If he put them into bags with seven pieces in each bag, how
many bags would he have?

A. 42 + 7 B. 42 - 7 C. 42 × 7 D. 42 ÷ 7

3) A group of two friends were playing video games. Later six more friends came over. How many
people were there total?

A. 2 + 6 B. 6 - 2 C. 2 × 6 D. 6 ÷ 2

4) Gwen was helping her mom plant vegetables in the garden. Together they planted four rows of
potatoes with seven seeds in each row. How many potatoes did they plant total?

A. 4 + 7 B. 7 - 4 C. 4 × 7 D. 7 ÷ 4

5) Will was packing up his old toys. He has thirty-two toys to pack up and can fit four in each box.
How many boxes will he need?

A. 32 + 4 B. 32 - 4 C. 32 × 4 D. 32 ÷ 4

6) A group of seven friends were playing a video game. In the game, each player started with three
lives. How many lives did they have total?

A. 7 + 3 B. 7 - 3 C. 7 × 3 D. 7 ÷ 3

7) Carol sent out eight birthday party invitations. If two people showed up, how many people didn't
come?

A. 8 + 2 B. 8 - 2 C. 8 × 2 D. 8 ÷ 2

8) A group of eight friends were dressing as pirates for Halloween. If each costume cost seven
dollars, how much did they spend?

A. 8 + 7 B. 8 - 7 C. 8 × 7 D. 8 ÷ 7

9) A pet store had two different types of cats. They had two house cats and they had six siamese cats.
How many cats did they have total?

A. 2 + 6 B. 6 - 2 C. 2 × 6 D. 6 ÷ 2

10) Katie had to complete twenty-one homework problems. If each page has seven problems on it,
how many pages does she have to complete?

A. 21 + 7 B. 21 - 7 C. 21 × 7 D. 21 ÷ 7
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